mml +I0'n ''0D2 NN'ON mml

(52 Tmyn wnn)
-2 Y1' XM V0T NI T T
.Io'n2 NNLY DYO |'NE,NoNAN DX 1

1" MIN D1I0'NY DYTANNN DY
-9' NN [ONY X2 Dnudnn”  :A1anow
MON D'WIN NMITY' D NN DT
DNY NINNY  [IN0'2N NN D*™INNON
AW DY) NDAND .N0IDIIND INY
oI 2Tvn N v o, vl
paT' L [oINNTM2] NN DTRY TID'ONI
N> o' D DV Ao Lop NIn AYnm
TIlY A [0INY oM paTaY DIDt|oinn
.2 DA [1I0'N2 NID 1T 0TA1 0T PIN
919 TAY I0'N2 pY NRMp T NNWON
I'"MAPNY ' 0N Ny Yy DoIann
-2 IM212'Y 019 0NN DD NIT
. “pmwo on

ITANNY  NINBW'™MY %N WO
-N0W YT VDY pINW TAY (100D
SN 1232 .Y TAY 21D N A
-ITANNA DWI N9 DpM1 DMINND D1ID
NN NIDIY YANNN N2 DX D'Tp'na It
D'WAN DY YINDY waon nr 'K’ anyT

ADN0Y DTTOTRON
“1n9'an ynen”

TOM” MmN XD ",0NYT DN Nwh
“JI0'N 2'NNN YK pIN 'K DNT
21002 AN NI [IO'D R 119D
JNID NIVBIN V'BINYD NIIDYY NINNND
NON ,[1D'NIW NIDDN NN WAATA XD NIN
I DYDY NI DMWY MIN
nneY ™M X A Npal L0nIA'o
AN DA NID 0NN DA 119 .NBINY
-'m WY Yya NN T DN pITad
DN [I0'N N2 A*Tvn X" 11M2TY NN
MIN1 2T MDY KM PN
NI N2Ion
207 OW NONIOPND DY) UK
-0 NN wYlwnn 10N NoyWN
-XN I'N DN D'WTIND 722 NIDHW
21070 DA NWYnY .0'I12'0 YW NINAL
XD DIN ,0NWN 93 |Wna 0120
=100 NNIYY 1950 0'I12'00 NN D'HOPIY
[12WN2 D'NpIDI ,ANXY NoNnnn 0'Ia
NIYI5Y NRIYA NIDANNY NINWORD NN
- 02N NN N NIponn iy
MINA NM'n2 1D )IN 01210t 'Y
T 0T R T9R (1ML NIt 2100
-1 NIPYY DODYN DNINA VIADY NoW
.01
-InY Np'LO'LLD] NWNNWN ANIBN"
DpNNA N2 NINNDAI ,NIPON NN
-On° Np'o'uoN NIIXPIY nnnla 01T
DNDYD Sw DAy 0Mpme 0NN
-1972 D0''0D'LVD DM Y'YONY NN
-n% P AIMY 01N 0My9Y VI N
-IT MN2Y [IDN — 1270 NIYRWnY NN
21 [I'Y'MY IR DTX N .0NIN NIA
AN ,|™'Nn9am DI9'0 NIAp'va nino
"It NN MTYa 0OXN DM NNy
-0 NINMINTTIWM VTR DY Tne-
N2 NIPIMATION WITN %Y 'viaw
D DA 10N ,0UVIAW IN WOIWNN 11D
My P A WM 'uswn i
PPN NIYXAN 1PTONY NNWONA NN
-0 0'WADYY DUIX'D NN YW QUvan DX
JI0'n Yw NND-NIYOIN
B YY)

2112 nm DoIn

Y 'XNY

n

n'o

250
315

325

650

470
550
595
475

D' 212N DX NIN] R

N0 NN NX AT

n'n 091In

NNy mwh

NINXIN 1'NN
N0 .nyn nbwn  [Invn

478 = 51 + 42 + 385
598 = 64 + 149 + 385

617 = 66 + 166 + 385
868 = 93 + 390 + 385
1254 = 134 + 735 + 385

013 = 98 + 430 + 385
1058 = 113 + 560 + 385
1153 = 123 + 645 + 385

913 + 98 + 430 = 385

O'mnniaxl

Y D"'INN [19"MVN
1127/ >Nn

YK N T e
910 INIT2 YDaN NIXON D) .

X AIXITY YIN NIXINY 'Inn ‘AT

NoN'N e
1'MN .

N'NINIP NITOIAN D' NONINAL e
N9 ,T0'T 11 ,N*D100IN

n'anT ,n'TTn ,n'rio Lanvn §in ,nINA- e
NPIIONTDNT ,nMAN e

[H''ND 19A1'0 ,NN19 ,Ip'opPn
AUP-AN TIO'NN .

ANITA NIYWNAN 'NT NNOYD 1py

54



